Model No.DVC157L CORDLESS VACUUM CLEANER




Model No.DVC157L CORDLESS VACUUM CLEANER




Model No.DVC157L CORDLESS VACUUM CLEANER

DHRE

o TSR oA R | B2
001 144486-9 |EBithE 1
C10 [891977-8 [IEEH 1
002 857C08-1 |DVC157L NAME PLATE 1
003 455734-4 |{EiE 1
004 459262-1 |SWITCH BUTTON 1
005 234273-5 |BR#EIEE 20 2
006 266340-8 |iB4% 4X65 6
007 144973-8 |ERE 1
D10 INC. 8,9
008 263005-3 |1&R78H 6 4
009 424688-6 | LFEERS 1
010 266326-2 |iB4#% M4X18 2
on 451343-7 |BERIEERE 1
012 686023-8 |{GEEE 8
013 651098-6 |Ff3 1
014 961062-2 |#E@ F/M925 1
015 620D40-2 |LEDER 1
016 620D39-7 |E/ZEHIZ3 1
017 961013-5 |{=1tE E-7 1
018 140T97-8 |BARARE 1
C10 |812D41-6 |INDICATION LABEL 1
019 213176-6 |O[E14 1
020 455733-6 |BARAE 1
021 213054-0 |OE 9 F/HM1302 1
022 451344-5 |GERANESH 1
023 455728-9 |EithE 1
024 231240-1 |BHEE 1
025 644808-8 |&BittinmT 2
026 455729-7 |ImFEEE 1
027 620D20-8 |1ZHIz% 1
029 651910-0 |FRD2VW-01-3HS 1
030 686039-3 |1B4FiIHF 1
DVC157L SERIAL NO.
031 857C16-2 | oo 1
032 140G18-2 |Z&4A 1
C10 |213218-6 |OME 16 1
C20 [818F57-1 |CAP LABEL 1
033 252268-6 |HEX. NUT M6 1
034 412581-6 | liEss 1
035 253752-4 |FEERS 1
036 240178-9 |EfE 104 1

Please order the parts with part number.

Print Date 2020/9/29



Model No.DVC157L CORDLESS VACUUM CLEANER

’”\f; TR 28 s | M8 |New/Old| 1 | im0 i
037 313062-2 |A@t
038 424685-2 |1%BBE60
039 127653-1 | EBiEMER
D10 INC. 66-76
040 424686-0 |1%EBE120 1
041 422590-7 |XiEE 1
042 424690-9 |#EBEEBIERS 2
043 143175-3 |&£EE 1
D10 INC. 44,45
044 424691-7 |#%[EESR 1
045 424689-4 |HIEIRES 1
048 197166-6  |MEEIRCAE 1
049 423398-2 |FHfEER 1
050 140253-0 |@iE% 1
051 422148-2  |{RB%HE 1
053 266257-5 |FiB#4 4X18 3
054 419351-4  |ZZE#R 1
055 419350-6 |%Z8 1
056 421468-1 |4BFE 1
057 266192-7 |BEINB4% 4X14 4
058 213655-4 | O 56 1
059 451348-7 |#ERER 1
060 168537-4 |EE 2
061 168535-8 |#HF 2
062 168434-4 |#F 2
063 649150-2 | HEE4F120 F/406 1
064 459493-2 |EERM 1
065 3471M71-5  |RBEE 1
066 266326-2 |i24% M4X18 3
067 457486-3 |EBE 1
068 266326-2 |iB4#% M4X18 4
069 619431-8 |#@BF 1
070 652069-6 |FEEIR4M3IX6 3
071 632J83-8 |34 1
072 183F90-5 |BEIREMH 1
D10 INC. 73
073 183F90-5 |EBEIREH
D10 INC. 72
074 629491-2 |EF DC36V
075 620D38-9 |iZHlz3 B
076 266490-9 |#8EEIR4A PT 2X6

Please order the parts with part number.

Print Date 2020/9/29



Model No.DVC157L CORDLESS VACUUM CLEANER

PER | pemn 25 %
077 620D41-0 | EliZHI23 1
AO1 195433-3 |&EEE28-3.5 1
C10 (417191-4 |EEEBEZH(EEHIR) 1
C20 |417586-1 |%& 1
C30 [417662-1 |EE 1
C40 |417766-9 |Ai#138 1
D10 INC. A03,A04
A02 195432-5 |BAERME(E4EI0R) 1
A03 417765-1  |BIEIRO 22 1
A04 424379-9 |FIEEO 24 1
A06 195434-1 |&£EE38mm-2.5M 1
C10 |417191-4 |SEEEZH(EEEIR) 1
C20 |417306-3 |#h 2
C30 [417307-1  |Ri+H 1
C40 [417586-1 |Z& 2
A07 199455-5 |NOZZLE ASSEMBLY SET 1
A08 192563-1 |E& 1
A09 192562-3 |BE 1
A10 410306-2 |A&FIRE(OE:38mm) 1
A1 451350-0 |EF 1
Al14 911138-5 |44 M4X20 1
A15 127607-8 | TOOL BOX ASSEMBLY 1

Please order the parts with part number.

Print Date 2020/9/29





